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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

D65: Σx−F10_X,s(λ)=94,73
xF10_X,s=0,3137 yF10_X,s=0,3311
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

D50: Σx−F10_X,s(λ)=96,83
xF10_X,s=0,3481 yF10_X,s=0,3595
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

P40: Σx−F10_X,s(λ)=102,04
xF10_X,s=0,3829 yF10_X,s=0,3753
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

A00: Σx−F10_X,s(λ)=111,77
xF10_X,s=0,4528 yF10_X,s=0,4051
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

E00: Σx−F10_X,s(λ)=100,02
xF10_X,s=0,3332 yF10_X,s=0,3331
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

C00: Σx−F10_X,s(λ)=97,17
xF10_X,s=0,3101 yF10_X,s=0,3191
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

P00: Σx−F10_X,s(λ)=102,55
xF10_X,s=0,3612 yF10_X,s=0,3522
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CIEF10_X-Normspektralwerte Ysum=100
x−F10_X,s(λ)=A11l

−
F10_X,s(λ)+A12m

−
F10_X,s(λ)

+A13s
−

F10_X,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ~570)

Q00:Σx−F10_X,s(λ)=98,28
xF10_X,s=0,3062 yF10_X,s=0,3115


